X
02

[>
um A

07 oY H
oy 12

HH.
= ol Lt /UX| efotol st= F0lE QHA SHME e ®
= HHE 180° E2|H &3 Elo| el ]IXIZ Sot=.
3 MZ &S H2 Y fixlol g + o T8,
=0 Moy:
EFl A: 12, HIZE, 4E 8ig
Etel C: 2%, her] 2, UE g8
E|.C|J=! BZJEI H|=;EI |__-|E 0I°
Bt D: I8, H2r0 2, HE 28
=M
L1 |
Lb |
| o ]
~ i o
3 ‘ ._i, J
— w ;
1=
D
E= Q0
ol A R
FEHS Etel D D1 D2 L L1 L3 B Bl H SW Fx30° AlZ Erd
Bt =
F12f N F2 2 N
K0348.040410 A 4 M10 10 38 25 20 9 3 6 - 1 8 14
K0348.040510 A 5 M10 10 38 25 20 9 3 6 - 1,3 8 14
K0348.040610 A 6 M10 10 38 25 20 9 3 6 - 1,8 8 14
K0348.0404101 A 4 M10x1 10 38 25 20 9 3 6 - 1 8 14
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



°
el
QlciA ZRI
EZS 29
FEHS Etel D D1 D2 L L1 L3 B Bl H SW Fx30° AlZ et
= 5
F1 2N F2 2F. N
K0348.0405101 A 5 M10x1 10 38 25 20 9 3 6 - 1,3 8 14
K0348.0406101 A 6 M10x1 10 38 2520 9 3 6 - 18 8 14
K0348.040512 A 5 M12 12 468 30 25 108 36 8 - 1,3 8 15
K0348.040612 A 6 M12 12 468 30 25 108 36 8 - 1,8 8 15
K0348.040812 A 8 M12 12 468 30 25 108 36 8 - 2,3 8 15
K0348.0405121 A 5 Mi2x1,5 12 468 30 25 108 36 8 - 1,3 8 15
K0348.0406121 A 6 MI2x15 12 468 30 25 108 36 8 - 1,8 8 15
K0348.0408121 A 8 MI2x15 12 468 30 25 108 36 8 - 2,3 8 15
K0348.040616 A 6 M16 16 604 40 32 144 48 10 - 1,8 15 35
K0348.040816 A 8 M16 16 60,4 40 32 144 48 10 - 2,3 15 35
K0348.041016 A 10 M16 16 60,4 40 32 144 48 10 - 2,8 15 35
K0348.0406161 A 6 M16x1,5 16 604 40 32 144 48 10 - 1,8 15 35
K0348.0408161 A 8 MI6x1,5 16 604 40 32 144 48 10 - 2,3 15 35
K0348.0410161 A 10 M16x1,5 16 604 40 32 144 48 10 - 2,8 15 35
K0348.040820 A 8 M20 20 70 50 35 18 6 12 - 2,3 20 60
K0348.041020 A 10 M20 20 70 50 35 18 6 12 - 2,8 20 60
K0348.041220 A 12 M20 20 70 50 35 18 6 12 - 3 20 60
K0348.0408201 A 8 M2x15 20 70 50 35 18 6 12 - 2,3 20 60
K0348.0410201 A 10 M20x15 20 70 50 35 18 6 12 - 2,8 20 60
K0348.0412201 A 12 M20x15 20 70 50 35 18 6 12 - 3 20 60
K0348.060410 c 4 M10 10 38 2520 9 3 6 - 1 8 14
K0348.060510 C 5 M10 0 38 2520 9 3 6 - 13 8 14
K0348.060610 C 6 M10 10 38 2520 9 3 6 - 18 8 14
K0348.0604101 c 4 M10x1 0 38 2520 9 3 6 - 1 8 14
K0348.0605101 cC 5 M10x1 10 38 2520 9 3 6 - 13 8 14
K0348.0606101 cC 6 M10x1 10 38 2520 9 3 6 - 18 8 14
K0348.060512 cC 5 M12 12 468 30 25 108 36 8 - 1,3 8 15
K0348.060612 C 6 M12 12 468 30 25 108 36 8 - 18 8 15
K0348.060812 c 8 M12 12 468 30 25 108 36 8 - 2,3 8 15
K0348.0605121 C 5 Mix15 12 468 30 25 108 36 8 - 1,3 8 15
K0348.0606121 C 6 Mi2x15 12 468 30 25 108 36 8 - 18 8 15
K0348.0608121 C 8 Mi2x15 12 468 30 25 108 36 8 - 2,3 8 15
K0348.060616 cC 6 M16 16 604 40 32 144 48 10 - 1,8 15 35
K0348.060816 c 8 M16 16 60,4 40 32 144 48 10 - 2,3 15 35
K0348.061016 c 10 M16 16 604 40 32 144 48 10 - 2,8 15 35
K0348.0606161 C 6 Mi6x1,5 16 604 40 32 144 48 10 - 1,8 15 35
K0348.0608161 C 8 Mi6x1,5 16 604 40 32 144 48 10 - 2,3 15 35
K0348.0610161 C 10 M16x1,5 16 604 40 32 144 48 10 - 2,8 15 35
K0348.060820 c 8 M20 20 70 50 35 18 6 12 - 2,3 20 60
K0348.061020 c 10 M20 20 70 50 35 18 6 12 - 2,8 20 60
K0348.061220 c 12 M20 20 70 50 35 18 6 12 - 3 20 60
K0348.0608201 C 8 M20x1,5 20 70 50 35 18 6 12 - 2,3 20 60
K0348.0610201 C 10 M20x15 20 70 50 35 18 6 12 - 2,8 20 60
K0348.0612201 C 12 M20x1,5 20 70 50 35 18 6 12 - 3 20 60
K0348.050410 B 4 M10 10 38 25 20 9 3 6 17 1 8 14
K0348.050510 B 5 M10 10 38 2520 9 3 6 17 1,3 8 14
K0348.050610 B 6 M10 10 38 25 20 9 3 6 17 1,8 8 14
K0348.0504101 B 4 M10x1 10 38 25 20 9 3 6 17 1 8 14
K0348.0505101 B 5 M10x1 10 38 25 20 9 3 6 17 1,3 8 14
K0348.0506101 B 6 M10x1 10 38 25 20 9 3 6 17 1,8 8 14
K0348.050512 B 5 M12 12 468 30 25 108 36 8 19 1,3 8 15
K0348.050612 B 6 M12 12 468 30 25 108 36 8 19 18 8 15
K0348.050812 B 8 M12 12 468 30 25 108 36 8 19 2,3 8 15
K0348.0505121 B 5 M12x1,5 12 468 30 25 108 36 8 19 13 8 15
K0348.0506121 B 6 MI2x1,5 12 468 30 25 10,8 36 8 19 18 8 15
K0348.0508121 B 8 M12x1,5 12 468 30 25 10,8 36 8 19 2,3 8 15
K0348.050616 B 6 M16 16 60,4 40 32 144 48 10 24 1.8 15 35
K0348.050816 B 8 M16 16 604 40 32 144 48 10 24 2,3 15 35
K0348.051016 B 10 M16 16 604 40 32 144 48 10 24 2,8 15 35
K0348.0506161 B 6 M16x1,5 16 604 40 32 144 48 10 24 18 15 35
K0348.0508161 B 8 M16x1,5 16 604 40 32 144 48 10 24 2,3 15 35

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/3



°
el
QIEiA =R
Z= 29

FEHS Etel D D1 D2 L L1 L3 B Bl H SW Fx30° AlZ et
B =

F1 2N F2 2F. N
K0348.0510161 B 10 M16x1,5 16 604 40 32 144 48 10 24 2,8 15 35
K0348.050820 B 8 M20 20 70 50 35 18 6 12 30 23 20 60
K0348.051020 B 10 M20 20 70 50 35 18 6 12 30 2,8 20 60
K0348.051220 B 12 M20 20 70 50 35 18 6 12 30 3 20 60
K0348.0508201 B 8 M2x15 20 70 50 35 18 6 12 30 23 20 60
K0348.0510201 B 10 M20x15 20 70 50 35 18 6 12 30 2,8 20 60
K0348.0512201 B 12 M20x15 20 70 50 35 18 6 12 30 3 20 60
K0348.070410 D 4 M10 10 38 2520 9 3 6 17 1 8 14
K0348.070510 D 5 M10 10 38 25 20 9 3 6 17 1,3 8 14
K0348.070610 D 6 M10 10 38 25 20 9 3 6 17 1,8 8 14
K0348.0704101 D 4 M10x1 10 38 2520 9 3 6 17 1 8 14
K0348.0705101 D 5 M10x1 10 38 25 20 9 3 6 17 1,3 8 14
K0348.0706101 D 6 M10x1 10 38 25 20 9 3 6 17 1,8 8 14
K0348.070512 D 5 M12 12 468 30 25 10,8 36 8 19 1,3 8 15
K0348.070612 D 6 M12 12 468 30 25 108 36 8 19 1,8 8 15
K0348.070812 D 8 M12 12 468 30 25 10,8 36 8 19 23 8 15
K0348.0705121 D 5 Mi2x15 12 468 30 25 10,8 36 8 19 1,3 8 15
K0348.0706121 D 6 MI2x15 12 468 30 25 10,8 36 8 19 1,8 8 15
K0348.0708121 D 8 Mi2x15 12 468 30 25 10,8 36 8 19 23 8 15
K0348.070616 D 6 M16 16 604 40 32 144 48 10 24 1,8 15 35
K0348.070816 D 8 M16 16 604 40 32 144 48 10 24 23 15 35
K0348.071016 D 10 M16 16 60,4 40 32 144 48 10 24 2,8 15 35
K0348.0706161 D 6 M16x15 16 604 40 32 144 48 10 24 1,8 15 35
K0348.0708161 D 8 M16x15 16 604 40 32 144 48 10 24 23 15 35
K0348.0710161 D 10 M16x1,5 16 604 40 32 144 48 10 24 2,8 15 35
K0348.070820 D 8 M20 20 70 50 35 18 6 12 30 23 20 60
K0348.071020 D 10 M20 20 70 50 35 18 6 12 30 2,8 20 60
K0348.071220 D 12 M20 20 70 50 35 18 6 12 30 3 20 60
K0348.0708201 D 8 M2x15 20 70 50 35 18 6 12 30 23 20 60
K0348.0710201 D 10 M20x15 20 70 50 35 18 6 12 30 2,8 20 60
K0348.0712201 D 12 M20x1,5 20 70 50 35 18 6 12 30 3 20 60

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 3/3



